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S1 Fig. Particle emission rate/concentration of vowels. Particle emission rate (Nv)/concentration (Cv) versus root mean square
amplitude, Ams, while saying (A) /a/ (the vowel sound in ‘saw’), (B) /i/ (the vowel sound in ‘need’), and (C) /u/ (the vowel sound
in ‘mood”) for 4 different amplitudes by 10 participants, 6 males (denoted as M1 to M6), and 4 females (denoted as F1 to F4). Solid
lines are power law fits with exponent (A) 0.80, (B) 0.70, and (C) 0.91, correlation coefficient (A) 0.54, (B) 0.14, and (C) 0.34, and
Pearson’s p value (A) 2.8x10, (B) 0.37, and (C) 0.03.



